1 o
1. gx(l()x —-5) = 2x(2x + 1) = IFeks] g Ao x? O] AFE a, x 9

ALE b2t & uf, ab O] FhS Fstoizt.
=

>
[> pal= 6

oHd -«

1

gx(lox —5)—2x(2x+1)
=2x% — x—4x% — 2x

= —2x% - 3x

sab=(-2)x (-3)=6




2. —3x2 4 2 of O AL EooF & 23 FRokol WE 2 4 3x 7
= giek. oWl A& Fafelel.

» =

> ®E: —dx?-—x

e ,
ojH AS A T of

SHRE A4

—-3x2 4+ 2x—A= x% + 3x

A=-3x%4+2x- (x* + 3x)

A= -3x+2x-x*-3x

A=-4x?-x




a®> =16, b2_4°“T—H( +5b>(1 —§b>91%b8—?

® -30 @—24 ® -18 @ -12 ® -6

(30 G20 -G -G

_]‘ 2 252
=164 " 1?
1 25
= —x16- = x4
16x6 4:><

—=1-25=-24




4. o[ ol gk 2= AW A Yol

(=D +DE*+1) = (7 -1)(*+1) = (x"-1)

v V. v V¥
0
o ol
[\

02
o
W~

(x-D(x+ D +1) = (2 -1)(2+1) = (¥ - 1)




5. a(x- 1)+ 1)(x-2) & WAL W, 229 ASE Fofoler

x(x=1)(x+1)(x—-2)

= {x(x=DH(x+1)(x-2)}

=2 -x)(x*-x-2)

x2 9 AlEE Folof SEER —2x2 + x2 = —x2 oA 2 9] A=
~ro]nt,




the-e B4 BAL ol-gstol Alstolel.

20112 - 2012 x 2010

20112 — (2011 + 1)(2011 - 1)
=20112 - 20112 + 1
=1




(a®b - az)'a 2(ab? + 6b)+b E VS| FZ W, ab ) AFE x, a
o A2 y o} o ul, 3u—y o] %S Fololat

> E.

> ®™etl 2

(4 =ab-a-2ab-12b = —a—ab - 12b
23x—y=3x(-1)—(-1)=-2




it

\VARR 4
I
L

D x = 1.25y

B

5:x=6:(2x—y),
6x = 5(2x — y)6x,

6x = 10x — 5y,
4x = by
5




9. 2-Ty+1=x-5y Lo, 2x+3y+4 5 yof T2 o2 el
ofet,
> CF

2x-Ty+1=x-5y & x o ®sto] A5t x =2y - 10|t}
—2x+3y+4=-22y-1)+3y+4=-y+6




10. o8 a3 e HPAHEG oA A2
2o Holg st @ uf, xE a, b, S AHO
el o]t
> =

S
I> XO-“I::I"‘ x:a—z




